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1. "Consider the foll(_m;ing :
.1. Bfoad inter-stream upland.
2. Well integrated drainage.
3. Maximum relief:

Which of these characterize the maturity
stage of the fluvial cycle of erosion ?

{a) 1 only
() 1and2
(¢) 2and 3
(d) 3 only

2. Which one of the following terraces is formed
due to the effect of neotectonics ?
1Y

{a) Paired terrace .
(b) Unpaired terrace
(¢} Kame terrace
(d) Structured terrace,
3. In a region where the total annual rainfall is
very scanty and day-temperatures are very

high, what type of landforms are likely to
come across 7

(a) Flat-topped
(b) Rounded
(¢) Angular

(d) Columnar

Central vent filled Successive layers of

ejected material

Which one of the fbllowing t‘.ypés of volcanoes
is shown in the above figure ?

(a) Shield volca_no
(b) Stratovoicano
(¢} Composite cone

{d) Cinder cone
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5.

(2 -A)

What is the age of the ocean floor ?
(a) 0—200 m.y.

(by 0-500m.y.

{c) 0-1000 m.y.

(d} 0-3500 m.y.

Which one of the following is assoc1ated with
normal faulting ?

{a) Closing of ocean basins
(b) Formation of ocean basins
{c) Overthrusting

{d} Underthrusting

Consider the following statements :

1. Magnetic anomalies are parallel to the
mid-oceanic ridges.

2. Magnetic anomalies are bilaterally
: symmetrical.
3. The age of magnetic anomalies

increases away from the ridge.
Which of the above statements is/are correct ?
(a) 1,2 and3
(b} 1 and 2 only
(¢} 2 and 3 only
(d) 3 only

What type of triple junction separates the
Pacific plate, Nazca plate and Cocos plate ?

(a) Ridge — Ridge — Ridge

(b} Ridge — Transform fault — Ridge
(c) Transform fault — Ridge —
Transform fault

(d) Trench - Ridge — Trench

Which one of the following methods of age
determination is most suitable for dating the
recent sediments of the deep-ocean floor ?

(a) 235U - 207pL method
) 2#Rb - 87Sr method
(©) “PK - %0Ca method

(d) %C method
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10. In a rocky desert the usual sequence of
occurrence of landforms from mountain front |
to the interior basin with an evaporation pan
is
(a) pediment, playa, bajada and scarp
(b) scarp, bajada, playa and pediment
{¢) pediment, scarp, bajada and playa -

(d) scarp, pediment, bajada and playa

11.  Due to which one of the causes given below, is
the scale of an aerial photograph not
uniform ?

(a) Topography of an area is never even

{b) Variation of velocity of the aircraft

() Vibration of the camera

(d) Effect of crosswind which deflects the
aircraft from actual flight direction

12. What is the characteristic primary ore |
mineral occurring in Rakha mines of
Jharkhand ?

(a) Galena

(b) Sphalerite

{¢) Malachite :
(d) Chalcopyrite

13. Which one of the following is a common
topographic representation of a fault scarp 7
(a) Closed contours
{b} V-shaped contours
(c) Widely spaced contours
(d) Closely spaced contours

14. Which one of the following is the
odd-one-out ?

{a) Spit and bar
(b) Esker
(¢) Kame
(d) Cirque

15. Which term describes the flat-topped sea

mournts ?
{a) Fumaroles
{b) Sea core
. (c)  Guyots
(d) Mesa
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16.

17,

18.

18.

20.

(4 - A)

Which one of the’ followmg planets has only
one satellite ?

(a) Mercury

(b)Y Earth
(c) Neptune
{d} Saturn

What is the colour of healthy vegetation in a
false colour infrared positive print ?

(a) Light green
(b} Dark gx-‘een
{c) Blue

{d) Red

Consider the following statements :

During aerial photography, the images of
objects can get displaced on the photographs.

1.  Tilt of the camera axis.
2. Flying height.
3.  Relief of the object.

Which of these causes displacements ?

(a) 1 only
(b) 2 only
{¢) 1land 3
(d) 2and 3

Orthogonal thickness is mlmmum in the
hinge in

(a) Supratenuous fold
(b} Ptygmatic fold

(c) Overturned fold
(d) Similar fold

What is the strike of a coal seam if its
apparent dip along both N 180° and N 270° is
30° ?

(a) Sd45°W
(b) S40°E

(¢ N45°E
(d) N45°W
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21, What {s the type of uncbnformity when the | 25.
i younger sedimentary - rocks overiie
unconformably the igneous rocks ?
(a) Disconfonnity
(b) Non-conformity I
{¢) Angular unconformity
(d) Out lap
22. Which one of the following folds will have a
| curved hinge line ? _ ‘
(a) Upright-non plunging fold
(b) Plunging cylindrical fold
(¢) Non-cylindrical fold
(d) Vertical cylindrical fold
23. Consider the following folds ;
1. Close
2,
Open 26, .
3. Gentle
4,  Tight
What is the correct order of increasing inter
limb angle in these folds ?
{a) 4,1,2and 3
(b) 3,1,2and 4
{c) 4,2,1and3
(d) 3,2 1and4
24,. Which one' of the following folds has
- horizontal axis 7
(a) . Recumbent fold
(b) Overthrust fold
{¢) Chevron fold
(d) Fan fold
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Match List I with List II and select the
correct answer using the code given below

“the lists :
List I List IT
A. Axial surface 1. Horizontal
» axial plane
B. Recumbent fold 2. Both the limbs
: are overturned
G. Chgvron fold 3. Contains all
the hinges
D. Fan fold 4. Hinges are
sharp and
angular
Code :
A B C. D
(a) 3 1 4 2
(b) 2 1 4 3
(e} 3 4 1 2
(d) 2 4 1 3

Consider the following statements :

1. Those in which the footwall moved up,
while ".the hanging wall remained
stafionary.

2. Those in which the hanging wall moved
down and the footwall moved up.

3. Those in which both blacks moved
down, but in which the footwall moved
a greater ampunt.

4.  Those in which both blocks moved up,
but in which the hanging wall maved
less than the footwall,

Which of the above statements is/are correct
for normal fault ?

{(a) 1 only
(b) 2 and 3 only
{e) 1,2and 3

{(d) 1,2 and 4
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27. In a cylindrical fold the
(a) hinge line is straight.
(b) “hinge line is curved.
(¢) axial plane is vertical.
{(d) limbs are inclined at the same angle.
28. Under the polarizing microscope a mineral
' grain between the cross-nicols appears dark at
all positions of the stage. The mineral will be
isotropic if the grain
{a} remains- dark under conoscopic
observations.

{b) remains dark in plane polarized light.

{(c) shows isogyres under conoscopic
observation,

(d) shows small specks of light with the
aperture closed.

29. In an outcrop on more or less flat topography
congruous sinistral minor folds are observed
on bedding that dips steeply towards west,
while the axial planar cleavage dips
northwesterly at a gentler angle. What is the
major fold closure that is likely to be
encountered on tracing the outcrops towards
south ?

(a) Northerly plunging synform
(b) Southerly plunging synform
(c) Upright antiform

(d) Southerly plunging antiform

30. Which of the following represents strike line
on the stereographic projection/net ?
{a) Line passing through center
(b) Point on the circamference
(¢} Small circle
{d) Great circle

31. In tetragonal crystals, the two horizontal axes
are equal and at 90° to each other. A normal
to the face with Miller Indices (221) makes an
angle of 45° with the b-axis. This value is
known as its ¢ value. What will be the ¢ value
of (111) face 7
(a) 30°
(b} 45°
(¢} 60°
(dy 90°
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32'

33.

34.

35.

36,

{8 - A)

Which one of the following combinations
characterizes cubic system (Galena type) ?

(a)
(b)
{c)

(d) 6 planes, 7 axes, no centre

9 planes, 13 axes, a centre
13 planes, 9 axes, a centre

3 planes, 7 axes, a centre

Consider the following statements :

1.  They belong to the same crystal class as
- the Holchedral forms.

2. They have the same indices as the
Holchedral form.

3. They have half the number of faces as
~the Holohedral form.

4. For each Holohedral form there are two
corresponding forms, )

Which of the above statements is/are correct ?

{a) 1 only

(b) 2 and 3 only

{c) 2,3 and 4

(d) 3 and 4 only

Which one of the following minerals

crystallizes in a different crystal system than
rest of the three ?

{a) Diopside
(b) Augite
{c) Aegirine
{d}) Enstatite

Which one of the following formations is
known for the occurrence of glacial deposits ?

(a)

Barakar formation

(b) Raniganj formation
(¢) Talchir formation
(d) Panchet formation

Which one of the following represents the
correct condifion to examine interference
colours of rock-forming silicates ?

{a) Reflected light using one nicol

(b) Reflected light using both the nicols

(c) Transmitted light using one nicol

{d) Transmitted light using both the nicols

L
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28.

29,

30.

31.
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37. What is the characteristic extinetion of garnet
under the microscope ?

(a) 0° extinction angle

(b) 15° extinction angle

(¢}  30° extinction angle

(d) Isotropic

38. Which one of the following names would you
suggest for a pyroxene whose CAZ as
measured on (010) is 54° ?

(a) Enstatite

(b) Hypersthene

(¢) Diopside

(d) Augite

39. Which of the following instruments can best
be used to measure the order of interference
colour ?

(a) Bertrand occular

(b) Mica plate

(¢} Gypsum plate

(d) Quartz wedge

40. Consider the following statements :

1. The uniaxial interference figure serves
to determine the crystal system of any
mineral. .

2. The uniaxial interference figure serves
to determine the location of the optic
axis.

3. The uniaxial interference figure serves
to determine the optic sign.

4. - The uniaxial interference figure serves
to determine the birefringence.

Which of the above statements are correct ?

(a) 2,3and4

(b) 1,2 and 3

(c) 1,2and4

(d} 1,3 and 4
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41.

42,

43.

{10 - A)

Which one of the following information is
required to evaluate the birefringence of a
mineral grain present in a thin section with
the help of Michael Levy’s chart ?

(a) Thickness of the section in millimeters
_and the optical orientation of the grain

(b) Thickness of the section in millimeters
and the mean refractive index of the
mineral ‘

{c) Path difference shown by the mineral in
millimicrons and the mean refractive
index of the mineral

(d) Path difference shown by the mineral in
millimicrons and thickness of the
section in millimeters

Which one of the following minerals is biaxial
positive ?

(a) Enstatite
{b) Tremolite
(c) Orthoclase
{d) Anorthite

Match List I with List IT and select the correct
answer using the code given below the lists :

List I List IT
(Mineral) (Crystal
- System)

A. Hornblende 1. Tn_'_go:::I '
B. Tourmaline 2. Isometric
C. Hypersthene 3. Monoclinic
D. Pyrope 4. Triclinic
5. Orthorhombic
A B C D
(a) 3 1 4 5
(b) 2 1 4 3
(e} 3 1 5 2
dy 2 4 1 5
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The triangular

the

diagram
composition of the feldspars in terms of the
three end-members — albite, anorthite and
orthoclase. In which of the four fields, 1 to 4,
are the feldspars stable at high-temperatures
only ?

- represents

(a) 1
(b) 2
(¢} 3
(d) 4

If some iron enters into the composition of
tephroite (Mn,SiO 4)» which olivine will form ?

(a)
(b)
(c)
(d)

Chrysolite
Glaucochroite
Hortonolite
Knebelite

Consider the following statements :

1. The Gondwana Era was initiated by a

glacial climate. -

2. The Lower Gondwana flora was
dominated by Ptilophyllum.

3. The Lower Gondwana flora was

dominated by Glossopteris.

Which of the above statements is/are correct ?

(a} 1 only

(b) 1 and 3 only
() 2 and 3 only
(d) 1,2and 3

44.  Match List I with List IT and select the correct |47.
answer using the code given below the lists :
List I List IT
{Mineral) (Physical
Property)
A. Quartz 1. Cherry-red
streak
B. Labradorite 2, Hardness-7
C. Hematite 3. Varying
' hardness
D. Kyanite 4. Play of colours
Malleable
Code :
A B C D \
(a} 3 1 4 2
(b) 2 4 1 3
() 3 4 1 2
(d) 2 1 4 3 48,
45. Consider the following minerals :
1. Phlogopite
2. Annite
3. Biotite
4.  Siderophyllite
What is the correct sequence of these minerals
according to decreasing percentage of
Mg : (Mg + Fe) ? 49,
(a) 2-34-1
(b) 1-4-3-2
(c} 2-4-3-1
(d) 1-3-4-2
46. Ugrandite series of garnet is represented by
the general formula CagY,(Si0,)s. Which of
the following elements occupies the Y site ?
(a) Cr, Al, Fe
(b} Cr, Fe, Na
(c) Cr, Fe, Mn
{d) Cr, Fe, Li
N-DTQ-K-IGN {12 - A)
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C. ¥ERT 3. uRadHa sORa
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' 5. smuaed
' A B C D
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(d) 2 1 4 3
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(a) 2-3-4-1 _ 49.
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¥ R frefig dar & | PrafoRea § & s @
7Y @I @I WA g ?
(a) Cr, Al, Fe
{(b) Cr, Fe, Na
{(c} Cr, Fe, Mn
(d) Cr, Fe, Li
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50.  Consider the following :
1. Anthophyilite
2. Wollastonite
3.  Rhodonite
4, Chlorite
Which of these minerals belong to ‘Pyroxenoid
group' ?
(a) 1and?2
(b) 2and 3
(¢) land 4
(d) 3and4
51.  Which of the following pairs is net correctly
matched ?
(a) Olivine — Nesosilicate
(b) Glauconite ~— Sorosilicate
(¢} Tourmaline - Cyclosilicate
(d) Pyroxene — Isosilicate
52. Match List I with List IT and select the correct
answer using the code given below the lists
List I List I
- (Metals) (Ore Minerals)
A, Manganese 1. Bornite
B. Tin 2. Scheelite
C. Copper 3. Pentlandite
D. Tungsten 4. Pyrolusite
5. Cassiterite
Code :
A B C D
(a) 3 1 4 5
(b) 4 1 5 2
© 3 4 1 5
d) 4 5 1 2
N-DTQ-K-IGN

53.

54.

b3,

56.

{14 - A

‘Twinkling’ is a phenomenon shown by a
mineral-grain under polarizing microscope
when the stage is rotated. Regarding this
phenomenon which one of the following
statements is correct ?

(a) It is caused by drastic differences in
absorption in different directions of the
grain.

(b) It is due to the variation in interference
colour of the mineral in different
directions.

{c) "It is due to high birefringence and very
high reflractive indices.

(d) It is due to high birefringence with very
high and very low refractive indices.
Which of the following is a main source of

native sulphur ? ’
(a) Salt domes

{b) Pyrite crystals

()  Copper sulphides
(d) Bacteriogenic acids

* Which one of the following pairs is correctly

matched ?

(a) Alumina ore —  (xnbbsite

(b) Manganese ore — Diaspore
-{¢} Iron ore — Garnierite

(d) Nickel ore ~ Smithsonite

Match List I with List IT and select the correct -
answer using the code given below the lists :

List I List I

(Process) (Metal)
A.  Magmatic 1. Gold
B. Hpydrothermal 2. Platinum
C. Sedimentation 3. Manganese
D. Residual 4. Alumina
Code :

A B C D
(a) 4 1 3 2
(b) 2 1 3 4
() 4 3 1 2
d)y 2 3 1 4
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57.  Consider the following : 60. Match List I with List IT and select the correct
. ' answer using the code given below the lists :
1. ;. Chemical and physical properties of host List I " List II
rock, {Place) (Mineral deposit)
| ' : kh e
2. Structural features of host rock. ‘ A Kudremukh 1. Gold
7 B.  Sukinda 2. Iron ore
3.  Composition of intrusives. C. Zawar ] « 3. Mica-
D. Koderma ~ 4. Chromite
In hydrothermal processes, which of these 5. Lead and Zine
factors control the ore localization ?
Code :
(a) 1 and 2 only A B C D
(a) 2 4 5 3
{b) 1 and 3 only ) 3 1 4 9
(¢) 1,2and 3 - : e 1 5 4 3
: (d) 3 4 1 2
(d) 3 only :
61. Consider the following statements,. associated
with Malanjkhand copper deposit in India -
568. Which one of the following modes of origin | . 1. Richest copper dgp osit in India.
is assigned to Uranium deposits of 2. It is a sedimentary copper deposit.
Jaduguda ? . 3. Molybdenum, gold and silver can be
recovered from this copper deposit.
(a) Magmatic origin 4. Copper confined in quartzites.
. e Which of these statements are correct ?
(b) Sedimentary origin
{(a) 1,2 and 3
(¢) Metamorphic origin , “(b) 1,3 and 4
' () 2,3and4

(d) Hydrothermal origin
o r &l (d 2 and 4 only

62. Consider the following :

59. Which of the following rocks is the host 1.  Albite
rock for the polymetallic “deposits of 2.  Oligoclase
Rampura -~ Agucha (Rajasthan) ? : 3. Andesine
4, Labradorite
(a)  Gneiss , - - Which of the above plagioclases - is/are
. dominant in Basalt ? o
(b} Phyllite (a) 1 only
(¢) Carbonate ] (b) 1and2
(¢} 2and3
(d} Schist (d) 3 and4

N-DTQ-K-IGN ‘ {16 - A}
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63. Which one of the following pairs is not |67.
correctly matched ?

(a} Harzburgite —  QOlivine +
orthopyroxenc

(b) Lherzolite —  Olivine +
orthopyroxene +
clinopyroxene

{c) Wehrlite — Olivine +
clinppyroxene

(d) Websterite ~  Olivine +
orthopyroxene +
clinopyroxene 68.

64. Base-metal sulphide deposits could enhance
.our gold output, if thoroughly evaluated. Tt
denotes that

(a) possibility of gold associating with
base-metals is fairly good.

(b) exploration for gold in base-metal
bearing areas is easier.

(c) gold and base-metals occur always
together,
(d) gold always occurs with other metals,
65. The panidiomorphic texture is characterized
by
(a) holocrystalline, medium grained,

subhedral, equigranular texture.

(b) holacrystalline, medium grained,
euhedral, inequigranular texture.

(e) holocrystalline, equigranular, medium
grained, euhedral texture.

{d) merocrystalline, inequigranular,
porphyritic texture. 69.

'66. Which one of the following faults demarcates
the boundary between the Siwalik group of
rocks and the Lesser Himalayas ?

(a} Main Boundary Fault
{b) Great Boundary Fault
(¢} Himalayan Frontal Fault
(d) Main Central Thrust

- N-DTQ-K-IGN {18 - A)

The C.1.P.W. classification, on the basis of the
ratioc between salic and femic minerals
classifies the igneous rocks into how many
classes ?

(a) 3
(b) 4
(c) 5
(d 6

Match List I with List IT and select the
correct answer using the code given below
the lists :

List I List II
A.  Pyrope 1. Cubie
B.  Rautile 2; Tetragonal
C. Tourmaline 3. Trigonal
D.  Orthoclase 4. Monoclinic
E. Microcline 5. Triclinic
Code :

A B . C D E
(a) 1 2 3 4
(b} 5 2 3 4 1
() 1 3 2 5 4
(d 5 2 1 4 3

Which one of the following types of granites
occurs nearer to the convergent plate
boundaries ?

(a) S-type granites
(b) Diapiric granites
() I-type granites
(d) A-type granites
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70. Match List I with List II and select the correct |73.
answer using the code given below the lists :

List I © List IT
A. Sediments derived 1. Allochemical

from the erosion

of land outside the

basin of deposition
B. Sediments ‘2. Orthochemical

precipitated from

the solution and

then moved into

the basin 74.
C. Sediments produced 3. Paralic

chemically within

the basin with no

evidence of transport
D. A Lacustrine 4. Terrigenous

.environment '

affected by

marine conditions
Code :

A

(a) 3
(by 4
) 3
{dy 4

71. Which of the following characteristics makes
the rocks split into thin layers along closely
spaced bedding planes ?

(a) Lamination
(b) Parting

(c) Fissility

(d) Cleavage

75,

(I . .|
l\:)t—il—lboo
I R N =

76.
72. Consider the following :
1.  Clear, less turbid water
2,  Siliciclastic supply curtailed
3.  Sunlight absent
4.  Depositional energy low

Which of the above conditions facilitate
carbonate deposition in nature ?

fa) 1and 3
(b 2 and3
(¢) 1and?2
{d) 3and4

N-DTQ-K-IGN {20 - A)

Which  of the following represents a
sedimentary rock composed of non-sorted
sediments, containing grains ranging in size
from boulder to clay ?

(a} Diamictite
(b) Agglomerate
(¢) Breccia -

(d) Argillite

Which one of the following statements is
correct ?

(a) V-shaped river valley and U-shaped
glacier valley

(b} U-shaped river valley and U-shaped
glacier valley

{(¢) V-shaped river valley and V-shaped

glacier valley

(d) U-shaped river valley and V-shaped
glacier valley

Which of the following fossils are
characteristically found in the Siwalik group
of rocks 7

(a} Dinosaurs
(b) Ammonoids
(¢} Mammals
(d) Echinoids

Which of the following assemblage of heavy
minerals indicates mafic igneous rock as its
provenance ?

{(a) Cassiterite, Ilmenite, Magnetite, Biotite
and Hornblende

(b) Anatase, Brookite, Hypersthene, Rutile
and Ilmenite

{c) Monazite, Leucoxene, Magnetite,
Ap_atite and Hornblende

(d) Cassiterite, Rutile, Epidote, Biotite and
Barite
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Which one of the following rocks represents
sandstones composed of at least 95% quartz
grains, with high textural and compositional
maturity ?

(a) Quartz arenite
(b) Sub]itharenité

(c) Subarkose

(d) Lithic-subarkose -

Coﬁsider the following :

1.  Dilation

2, " Distortion

3.  Formation of unidimensional grains
4

Growth of the body in a direction
perpendicular to the direction of stress

5.  Solubility of the minerals is decreased

Which of the above effects takes place when
a body is subjected to directed pressure ?

(a) 1,3 and 5

(b) 1,3 and4
(¢) 2,4ands
(d) 2, 3and4

What is the common geuthermal gradient in a
sedimentary basin ?

(a) 5°C/km

(b) 10°C/km
()  20°C/km
(d) 50°C/km

During very low fluid pressures (less than
1500 bar) rocks of which one of the following
facies does not form ?

(a} Hornblende hornfels
{b) Sanidinite

(c) Pyroxene hornfels
(d) Green schist

82,
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Which one of the following pairs of minerals is
a characteristic of eclogites ?

(a} Clinopyroxene + orthopyroxene
(b)  Omphacite + pyrope |
(c) Sanidine + pyroxene

{(d} Jadeite + plagioclase

Match List I with List IT and select the
correct answer using the code given below
the lists :

List I
(Characteristic)

List IT
(Fabric)

Mullion

A. Porphyroblasts of 1.
andalusite, cordierite, .’
chloritoid, biotite, well-
developed or in which
spotting develops due
to their incipient
crystallization

B. Mosaic of 2
equidimensional
anhedral grains;
inequant grains,
if present, are
randomly oriented

Granulose

C. Predominance of 3. Maculose
equidimensional
minerals e.g. quartz,

feldspar, pyroxene

D. Lineation on a very 4. Granoblastic
coarse scale, linear

elements, e.g. rods

of quartz
Code :
A B C D
(a) 3 2 4 1
(b) 1 2 4 3
(c) 4 2 1
{d 1 4 2 3
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Which one of the following processes defines
the breakdown of laths of plagioclase feldspar
into albite, epidote, chlorite, under the action
of dynamothermal metamorphism ?

{a} Metasomatism
(b) Saussuritization

{c) Analcitization

(dy Albitization 87.

4

During thermal metamorphism of impure
calcareous rocks mineral association becomes
unstable and new minerals form. Which of the

following pairs is no# correctly matched ?
(a) Dolomite-quartz — Tremolite

(b} Calcite-tremolite —

Forsterite
(¢) Caicite-forsterite — Akermanite
(d) Dolomite-tremolite — Forsterite

Which one of the following pairs is not
correctly matched ?

(a) Albite-rich rocks with
tourmaline at dolerite
contact

!

(b} Sedium-rich rock,
orthoclase-arfvedsonite;
developed-at carbonatite
contacts

Fenite

(¢} Lime-rich, grossularite Rodingite
or prehnite-bearing rock,
developed at the contacts

of ultrmafic intrusion

(d) Enriched in Fe, Zn, Cu
etc., having large
amounts of Si; Al, Mg
developed in argillaceous
rock at granite contact

Skarn

86.

Diopside and |88

Adinoles |89,

90.

{24 - A )

Which one of the following is exemplified by
fenitization ?

(a) Contact metamorphism

"(b)  Dynamic metamorphism

(c) Isochemical metamorphism

(d) Metasomatism

Which one of the following implies the
fossilization of animal excreta ?

(a) Petrifaction
(b) Carbonization
(c) Impression

(d} Coprolites

Which one of the following represents the
two parts that it consists of ?

(a) Glabella + Free cheeks

{b) Glabella + Fixed cheeks

(¢) Glabella + Genal angles
(d) Fixed cheeks + Free cheeks

Which one of the following is compound
coral ?

(a) Calceola
(b) Zaphrentis
(¢} Montlivaltia

(d) Isastrea:

Which form of Gastropoda has spire that is
almost concealed by the last whorl ?

(a) PFusus
(b) Cypraea
() Trochus

(d) Conus
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91, Match List I with List IT and select the correct | 95.

answer using the code given below the lists :

List 1 List IT

A Py, A/ L Nautilus

B. /\/\/\/\ 2. Ceratites 96.

C. W 3. Stephanoceras

. 4, iati
D f\/—\ Goniatite 97,
Code :
A B C D )

(a) 3 4 2 1

b) 1 2 4 3

(¢) 3 2 4 1

@ 1 4 2 3 98.
92. What is the type of dentition in Arca ?

(a) Taxodonta

(b) Schizodonta

(c) Anomalodonta

(d) Edentulous 99,
93. Which of the following is an example of

Dimorphism ?

(2) Nummulites

(b} Discocyclina

(¢) " Textularia

(d) Rotalia

_ 100.

94. What is the age of Bellerophon ?

(a) Jurassic to Cretaceous

{(b) Triassic to Recent

(¢) Silurian to Permian

(d) Cretaceous to Recent
N-DTQ-K-IGN { 26 — A )

Which one of the following was recorded upto
Permian age ?

(a) Calymene
{(b) Paradoxides
(¢} Phillipsia
(d) Phacops

‘What is the age of Baculites ?

{a) Triassic
(k) Jurassic
(c) Cretaceous
{(d) Tertiary

Which pair of Brachiopeda occurs most
commonly in Mesozoic era ?

(a) . Productus and Spirifer -

(b)  Rhynchonella and Orthis
(¢)  Spirifer and Lingula
(d) Terebratula and Rhynchonella

What is the age of oil bearing sediments that
contain Foraminifera ?

(a} Permian
(b}  Tertiary
(¢} Cretaceous
{d) Triassic

Which one of the following represents fossil
elephants in the Upper Siwalik ?

(a) Mastodon, Stegodon and Elephas

(b)  Stegodon, Dinotherium and Trilophodon

(¢} Dinotherium, - Trilophodon . and
Palaeomastodon

(d)  Moeritherium, Stegodon .and Elephas

Which one of the following assemblage
belongs to the Upper Gondwana flora ?

(a) Nilssonia, Brachyphyllum, Bucklandia

(b}  Ptilophyllum, Pterophyllum, Vertebraria
(c)  Glossopteris, Ptilophyllum, Otozamites
(d) Sphenophyllum, Ptilophyllum,

Brachyphyllum
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95.

96,

97.

98,

99,

100.

{ 27 - A}
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101. Which one of the following is a fundamental
requisite in any stratigraphic work ?

(a) The mineral contents in the rock

(b) = The tectonic set-up in the rock sequence

{e) The order of superposition of strata

(d) Lateral continuity in the rocks

102. Consider the following statements :

1. Lithostratigraphic, biosti‘atig'raphic an
chronostratigraphic  units are in
hierarchical order.

2. Only biostratigraphic and
chronostratigraphic units are in
hierarchical order.

3. Only lithostratigraphic and
chronostratigraphic units are in
hierarchical order.

4. Lithostratigraphic units are defined in
terms of lithology.

Which of the above statements is/are correct ?

(a) 1 only

(b) 2 and 3 only

() 3 and 4 only

(d) 2,3and4

103. In which of the following groups are the|
vertebrate fossils found commonly ?

(a) Gondwana Supergroup

{b) Vindhyan Supergroup

{¢) Siwalik Group

(d) Chitradurga Group

104. Match List I with List II and select the correct
answer using the code given below the lists :
List 1 List II
{Chronostratigraphic (Geochronologic
unit) untt)

A, Erathem 1. Period

B. System 2. Era

C. Series 3. Apge

D. Stage 4. Epoch

Code :

A B C D

(a) 3 1 4 2

by 2 1 4 3

(e 3 4 1 2

(@) 2 4 1 3
N-DTQ-K-IGN

(28 - A)

105. Match List 1 with List II and select the

correct answer using the code given below
the lists :

List I List IT

A, The fundamental 1:
mappable unit in the
classification of rocks
s

Member

B. In order to describe a 2. Type
new formation it section
should be accompanied
by a definition of the
specific locality in which
it is typically developed
and studied

C. Successive formations, 3. Formations
related by lithology '
and position with
reference to
uncenformities can be
assembled as

D. For the purpose of 4. Group
classification and
mapping or for
economic reasons, it
is necessary to map
and recognize one or
more individual parts
of a formation. Such
parts are called

que :
A B C. D
(a) 3 2 1 1
(b) 1 2 4 3
(e 3 4 2 1
dy 1 4 2 3
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108. . Match List I with List II and select the
correct answer using the code given below

107.

the lists :

List1 List 1T
(Periods in (Epochs in
Geologic Geologic time
time scale) scale)

. Carboniferous

A
B. Cambrian
C
D

. Silurian
. Permian
A B C
(a) 3 4
(b) 2 4.
() 3 1 4
{d) 2 1 4

1. Llandovery

2. Guadalupian
3. Mississippian
4

Furongian

W N W o g

Consider the following statements :

1. The

triangular

plateau  of

India

including Deccan south of the Vindhyan
is called the ‘extra peninsular’ region.

2. The

mountaincus

region of the

Himalayas that borders India to the

west, north

and

east is called

‘peninsular’ region of India.

3. The plains

of Punjab and Bengal

extending from the valley of Sind to
that of the Brahmaputra in Assam are
called ‘Indo-Gangetic’ plains.

4.  The

extra-peninsula

unlike the

peninsular region
mountain belt.

reveals an active

Which of th_e above statements are correct ?

(a) 1and3
(b) 1and2
{fc) 2and3
{(d) 3and4 .
N-DTQ-K-IGN
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108,

109,

110.

Which

of the

following deposits

are

associated with Dharwar Supergroup ?

(a)
(b)
(e)
(d)

Iron, aluminium and manganese

Iron, diamond and tin

Iron, silver and platinum

Iron, gold and manganese

Match List I with List II and select the
correct answer using the code given below

the lists :

List 1 List 11
(Groups in {Formations in
Vindhyaln Vindhyan
Supergroup) Supergroup)

A. Bhander 1. Sirbu shale
B. Rewa 2. Jhiri shale
C. Kaimur 3. Bijagarh shale
.D. Semri 4. Rohtas
Code :
A B C D
(a) 1 2 3 4
(b} 4 2 3 1
(). 1 3 2 4
(dy 4 3 2 1

What is the correct sequence in ascending
order ?

(a) Semri, Kaimur, Rewa and Bhander
(b} Kaimur, Rewa, Semri and Bhander
(c} Bhander, Rewa, Kaimur and Semri

(d) Semri, Bhander, Rewa and Kaimur
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111. Diamond is present within
(a) Dharwar sediments
-(b) Vindhyan sediments
(¢} Gondwana sediments
(d) Siwalik sediments
112. Consider the following statements :
The science of dating rocks in all its aspects is
termed  ‘Geochronology’. The types of
geological events that can be dated by these
methods are
1. The crystallization of igneous rocks from
a magma,
2, Transgression and regression of
sea-levels.
Instances of storms and cyclones.
Deposition of sedimentary  rocks
provided that one or more new minerals
are formed during or soon after
sedimentation,
Which of the above statements are correct ?
(@ 1and?2
(b) 2and 3
(¢}  3and 4
(d) 1and4
113. Consider the following statements :
1. Diamond is present within Upper
Vindhyan rocks.
2,  Volcanic rocks are absent within
Vindhyan rocks.
3. Carbonate rocks are absent in Upper
Vindhyan rocks. '
4.  Angular unconformity is present
between Lower and Upper Vindhyan
rocks.
Which of the above statements is/are correct ?
(a} 1 only
(b) 2 only
() land4
(d) 3and4
N-DTQ-K-IGN

Directions : The following seven (7) items consist of
two statements, one labelled as the Assertion (A)
and the other as ‘Reason (R). You are to examine
these two statements carefully and select the answers
to these items using the code given below :

Code :

{a) Both A and R are individually true and
R is the correct explanation of A

(b) Both A and R are individually true but R
is not the correct explanation of A

(¢) A s true but R is false

(d) A is false but R is true

114. Assertion (A) : The scale of a vertical aerial

photograph is never constant.

Reason (R} : The height between the
camera lens and the terrain

objects is never uniform.

115, Assertion (A) : Thrust faults commonly
develop in fold mountain belts.

Reason (R) : In fold mountains, the greatest
principal stress, 0y, axis is

generally horizontal.

116. Assertion (4): In monoclinic system,
orthopinacoidal . and
basalpinacdidal section give
straight extinction whereas
clinopinacoidal section gives

oblique extinction.

Reason (R) : In monoclinic system all the

three axes are unequal.

{32 - A)
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117. Assertion (A) :

Reason (R) :

118. Assertion (4) -

Reason (R) :

N-DTQ-XK-IGN

The Pyroxene group of
minerals embrace different
crystal systems, yet, are

closely related in form.

All have a cleavage with angle
of 93° and 87°.

One of the major factors that
control process of formation of
oxidation and supergene
enrichment is rise and fall of

watertable.

Oxidations cannot take place

above the watertable.

119. Assertion (A) -

Reason (R) :

120. Assertion (A) :

Reason (R) :

{ 34 — A}

Calcic plagioclase is far more

common in  occurrence than
alkali feldspar, within
sediments.

Calcic plagioclase is more

stable than alkali feldspar at
low pressure-temperature

condition on Earth’s surface.

Fossiliferous strata

differentiated

are
into vertically
successive units by distinction
between the assemblages of

fossils that they contain.

They
changes

are distinguished by
by their
breaks or change in lithological

physical

characters.
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SPACE FOR ROUGH WORK
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Note : English version of the instructions is printed on the front cover of this Booklet.




